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Pairwise Testing 
•  Necessary condition 

–  For each pair of input parameters, 
every combination of valid values of 
these two parameters be covered 

•  Example 
–  Parameter A has values A1 and A2 
–  Parameter B has values B1 and B2 
–  Parameter C has values C1 and C2 

•  Discussion 

Some Test Cases 
•  {(A1, B1, C1), (A1, B2, C2), (A2, 
B1, C3), (A2, B2, C1), (A2, B1, 
C2), (A1, B2, C3)} 

•  {(A1, B1, C1), (A1, B2, C1), (A2, 
B1, C2), (A2, B2, C3), (A2, B1, 
C1), (A1, B2, C2), (A1, B1, C3)} 

•  {(A1, B1, C1), (A1, B2, C1), (A2, 
B1, C2), (A2, B2, C2), (A2, B1, 
C1), (A1, B1, C2), (A1, B1, C3), 
(A2, B2, C3)} 

Growth Terms 
•  Horizontal 

–  Let T be a pairwise test set for parameters 
p1, p2, …, pn-1 

–  Horizontal growth of T for parameter Pi is to 
extend each test in T by adding the value of 
Pi. 

•  Vertical 
–  After applying horizontal growth 
–  Let T be a test set for p1, p2, …, pi 
–  Let π be the set of tests not covered by T 
–  The vertical growth of T according to π is to 

construct new tests for pairs in π and add 
them to T 

Horizontal Growth 
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Vertical Growth 


